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QUESTION 1

You need to display the first names of all customers from the customers table that contain the character \'e\\' and have
the character \Va\\' in the second last position.

Which query would give the required output?

A) SELECT cust first name
FROM customers

WHERE INSTR({cust_first_name, 'e')<>0 AND
SUBSTR (cust_first name, -2, 1}—@&

B) SELECT cust_first name

FROM customers x@{‘
WHERE INSTR(cust_first_name, ' 'Il< Q&}%ND
SUBSTR (cust first n E 2, 1)y='a';
C) SELECT cust_first_name @5
FROM customers oA

WHERE INSTR(cust first nag' "E'JIS NOT NULL AND
SUBSTR{cus%{ﬁg st_name, 1,-2)='a';

D) SELECT cust first
FEOM customers

WHERE INSTR(cust_first name, 'e')<>0 AND
SUBSTER (cust first name, LENGTH(cust first name),-2)=

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: A

The SUBSTR(string, start position, number of characters) function accepts three parameters and returns a string
consisting of the number of characters extracted from the source string, beginning at the specified start position:

substr(\\'http://www.domain.com\\', 12, 6) = domain

The position at which the first character of the returned string begins. When position is 0 (zero), then it is treated as 1.
When position is positive, then the function counts from the beginning of string to find the first character.

When position is negative, then the function counts backward from the end of string.
substring_length

The length of the returned string. SUBSTR calculates lengths using characters as defined by the input character set.
SUBSTRB uses bytes instead of characters. SUBSTRC uses Unicode complete characters.

SUBSTR2 uses UCS2 code points. SUBSTR4 uses UCS4 code points. When you do not specify a value for this
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argument, then the function

The INSTR(source string, search item, [start position], [nth occurrence of search item]) function returns a number that
represents the position in the source string, beginning from the given start position, where the nth occurrence of the
search

item begins:

instr(\W'http://www.domain.com\\', \\\\', 1, 2) = 18

QUESTION 2

You want to create an ORD_DETAIL table to store details for an order placed having the following business
requirement:

1) The order ID will be unique and cannot have null values.

2) The order date cannot have null values and the default should be the current date.
3) The order amount should not be less than 50.

4) The order status will have values either shipped or not shipped.

5) The order payment mode should be cheque, credit card, or cash on delivery (COD).
Which is the valid DDL statement for creating the ORD_DETAIL table?

A. CREATE TABLE ord_details(ord_id NUMBER(2) CONSTRAINT ord_id_nn NOT NULL,ord_date DATE DEFAULT
SYSDATE NOT NULL,ord_amount NUMBER(5, 2) CONSTRAINT ord_amount_minCHECK (ord_amount >
50),ord_status VARCHARZ2(15) CONSTRAINT ord_status_chkCHECK (ord_status IN (\\'Shipped\\', \'Not
Shipped\\)),ord_pay_mode VARCHAR2(15) CONSTRAINT ord_pay_chkCHECK (ord_pay_mode IN (\W'Cheque\\
\\'Credit Card\\',\\'Cash On Delivery\\")));

B. CREATE TABLE ord_details(ord_id NUMBER(2) CONSTRAINT ord_id_uk UNIQUE NOT NULL,ord_date DATE
DEFAULT SYSDATE NOT NULL,ord_amount NUMBER(5, 2) CONSTRAINT ord_amount_minCHECK (ord_amount >
50),ord_status VARCHAR2(15) CONSTRAINT ord_status_chkCHECK (ord_status IN (\\'Shipped\\', \'Not
Shipped\\)),ord_pay_mode VARCHAR2(15) CONSTRAINT ord_pay_chkCHECK (ord_pay_mode IN (\W'Cheque\\
\\'Credit Card\\',\\'Cash On Delivery\\")));

C. CREATE TABLE ord_details(ord_id NUMBER(2) CONSTRAINT ord_id_pk PRIMARY KEY,ord_date DATE
DEFAULT SYSDATE NOT NULL,ord_amount NUMBER(5, 2) CONSTRAINT ord_amount_minCHECK (ord_amount >=
50),ord_status VARCHAR2(15) CONSTRAINT ord_status_chkCHECK (ord_status IN (\\'Shipped\\', \'Not
Shipped\\)),ord_pay_mode VARCHAR2(15) CONSTRAINT ord_pay_chkCHECK (ord_pay_mode IN (\W'Cheque\\
\\'Credit Card\\',\\'Cash On Delivery\\")));

D. CREATE TABLE ord_details(ord_id NUMBER(2),ord_date DATE NOT NULL DEFAULT SYSDATE,ord_amount
NUMBER(5, 2) CONSTRAINT ord_amount_minCHECK (ord_amount >= 50),ord_status VARCHAR2(15) CONSTRAINT
ord_status_chkCHECK (ord_status IN (\'Shipped\\', \'Not Shipped\\)),ord_pay_mode VARCHAR2(15) CONSTRAINT
ord_pay_chkCHECK (ord_pay_mode IN (\W'Cheque\\', \\'Credit Card\\',\\'Cash On Delivery\\')));

Correct Answer: C

QUESTION 3
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Which tasks can be performed using SQL functions that are built into Oracle database? (Choose three.)
A. finding the remainder of a division

B. adding a number to a date for a resultant date value

C. comparing two expressions to check whether they are equal

D. checking whether a specified character exists in a given string

E. removing trailing, leading, and embedded characters from a character string

Correct Answer: ACD

QUESTION 4

Which three SQL statements would display the value 1890.55 as $1, 890.55? (Choose three.)
A. SELECT TO_CHAR(1890.55, \\'$0G000DO0\\')FROM DUAL;

B. SELECT TO_CHAR(1890.55, \'$9, 999V99\\')FROM DUAL,;

C. SELECT TO_CHAR(1890.55, \'$99, 999D99\\')FROM DUAL;

D. SELECT TO_CHAR(1890.55, \\'$99G999D00\\')FROM DUAL;

E. SELECT TO_CHAR(1890.55, \'$99G999D99\\')FROM DUAL,;

Correct Answer: ADE

QUESTION 5
Here is the structure and data of the CUST_TRANS table:
Exhibit:

CUST_TRANS

Marme Mull’? Type
sgoeiitisocgenw camaencaeas __:__}.R,h"_'____
CUSTNO NOT NULL _ EE
TRANSDATE DATE .7

TRAMNSAMT &5 NUMBER(E,2)

CUSTHNO TIQ;&E[E-EBATE TRANSAMT

1M 6501-JAN-07 1000
22 " D1-FEB-07 2000
33 01-MAR-07 3000

Dates are stored in the default date format dd-mm-rr in the CUST_TRANS table.
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Which three SQL statements would execute successfully? (Choose three.)
A. SELECT transdate + \\'10\\' FROM cust_trans;

B. SELECT * FROM cust_trans WHERE transdate = \'01-01-07\\';

C. SELECT transamt FROM cust_trans WHERE custno > \\'11\\;

D. SELECT * FROM cust_trans WHERE transdate=\\'01-JANUARY-07\\;
E. SELECT custno + \WA\\' FROM cust_trans WHERE transamt > 2000;

Correct Answer: ACD
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